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Attempt any five questions.
All questions carry equal marks.
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1. An Industrial Tribunal, on a reference for adjudication

under the provisions of the Industrial Disputes Act,
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1947, gave its award. Aggricved Workers® Union
preferred an appeal to the Supreme Court under Art.
136 of the Constitution of India. The management

raised a preliminary objection.

The Supreme Court has no jurisdiction to grant
special leave to appeal as the Industrial Tribunal is
neither a “Court’ nor its determination is of a “judicial

nature’.
(a) Decide the issue.

(b) Would it make any difference had the award been
“given by an ‘Industrial Arbitrator’ under section
10-A of the LD. Act, 1947 ?
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2. The power of reference of the appropriate government
under section 10(i) of the ID. Act, 1947 is
administrative in nature. However, the discretionary
power of the appropriate government is not unguided
and absolute.

Under what circumstances and how is the power
controlled by the process of judicial review ? Support
your answer with decided cases.
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3. (a) An industrial tribunal gave an award about the
wages of workmen and sent it to the appropriate
Government for publication. But before the
publication of the award the management and

workmen aitive at a settlement and request the
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(b)

appropriate Government not to publish the award
in view of the seitlement. But the appropriate

Government insists to publish it,

Is the appropriate Government justified in insisting
to publish the Award ? Discuss,

An award of the industrial tribunal is published by
the appropriate government after 40 days of its
receipt -under section 17(1). Is the award legally
binding under the Industrial Disputes Act, 1947 ?
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4. Discuss the principles involved in conducting a fair
domestic enquiry and also the permissibility of
simultaneous  criminal  trial  and  disciplinary
proceedings.
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5. What was the purpose in inscriing section 11-A in the
Industrial Disputes Act, 1947 ? Discuss in the light of
divided cases legal position prior to and after the
insertion of section 11-A in the I.D. Act, 1947,
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6. (a) Can the employer revise wage structure of its
workmen to their prejudice ?

(b) What criteria would you apply in determining
whether the wage structure in any particular
mdustry is fair wage or not ? What i1s. living
wage ?
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7. “An employer is liable to pay compensation for any
personal injury caused to a workman by an accident
ansing out of and In course of his employment. And the
premises of the employer have got (o be extended both
in time and place with the help of the doctrine of
notional extension for the purposes of employer's
liability™.

Elucidate with the help of judicial precedents.
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8. Discuss briefly any four of the following :
(a) Protected workman
(b) Constitution and duties of works committee

(c) Dissimilarities in the function of conciliation
officers and the Board of conciliation

(d) Res Judicata in industrial adjudication

(e) Limitation on the powers of industrial tribunal to
adjudicate under section 10(4) of the 1.D. Act,
1947,
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